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. (10%} Find the inverse Fourier transform of the function

- (15%) Find the solutions of the following ODE's.

(a) y’:ye_ix
(b) ¥y 3y 225 y=.10¢ M
(C) _\’3)}'"- 3x'2y"+ 6xy'_ 6y:x4 Inx

. (a) (7%) Find the Laplace transform for y(1) = e+ sinh(f)-f

(b) (8%) Given a second order differential equation ¥y =1 with initial conditions y(0) = y (0)=1.
please find the solution by using Laplace transform methed.

. (10%) F =[x, v, ] is a three-dimensional vector, Please calculate the value of a surface integral

JIs [ F- n] dA, where $ is a surface defined as x* + ¥+ 22 =9 and n is the normal vector of §.

. (10%) Solve the following ODE

x(x-1)p"+ 3x-1) p'+y=0

. (15%) Solve the PDE below.

=0 ,at x=0

u=2-y ,at x=2
‘_3_?,;“2"_’2_’:0_3,(;_ %:0 at y=0 for 0<x<2, 0<y<2
o' oy dy ’

%:0 Jat y=2

oy

. (15%) Solve the PDE below.

6uH62u w=¢t ,at x=0 forall +>0.

-a—t—-a—z I1C. u(x,t=0)=0,B.C. {
X

w=3 .at x=1 forall r>0.

. (10%) Find the Fourier integral of f(x).

sinx_ if M<7[
0 if |x|>/T

-]

6e™ cos(4a)
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